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Achieve the CIMAPRA19-F03-1 Exam Best Results with Help from CIMA
Certified Experts [Q191-Q210

Achieve the CIMAPRA19-F03-1 Exam Best Resultswith Help from CIMA Certified Experts Provide CIMAPRA19-F03-1
Practice Test Enginefor Preparation NEW QUESTION 191

Which THREE of the following methods of business valuation would give a valuation of the equity of an entity, rather than the
value of the whole entity?

* Expected dividend in one year& #8217;stime/ (cost of equity &#8211; growth rate).

* Total earnings x appropriate price-earnings ratio.

* Forecast future cash flowsto all Investors, discounted at the weighted average cost of capital.

* Forecast future cash flows to equity, discounted at the cost of equity.

* Non-current assets, plus current assets, minus current liabilities

NEW QUESTION 192

A company s about to announce a new project that has a positive NPV.

If the market is semi-strong form efficient, which of the following statementsis most Likely to be true?
The value of the company will.

* only change to incorporate historical information.
* Increase by the NPV of the project once the information has been announced
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* aready include the value of the project.
* increase only on completion of the project.

NEW QUESTION 193

RST wishesto raise at least $40 million of new equity by issuing up to 10 million new equity shares at a minimum price of $3.00
under an offer for sale by tender. It receives the following tender offers:

snare price Nump.g_;‘ ot uity shares asked
et ror
$560  , p8XE 1 milion
$900 ° 3 milion
$4 50 7 milion
34,00 9 milion

What is the maximum amount that RST can raise by this share issue?

(Give your answer to the nearest $ million).

| [ miliors

49
NEW QUESTION 194

Z77 isalisted company based in Brinland. a European country. It is the largest owner and operator of residential care homes for
elderly peoplein Brinland

Most of the residential care homesin Brinland are run by small private operators, and the standards of cafe are extremely variable
However. 227 has developed a good reputation because its client service is considered to be extremely good even though its prices
are higher than those of most of its competitors.

277 has expanded rapidly in the last few years, partly by acquisition and partly by organic growth consequently, the
company&#8217;s share price now stands at a record high, and the dividend declared at the end of the most recent accounting period
was 10% higher than the previous year& #8217;s dividend.

The Brinland government has recently set up aregulatory body to monitor the residential care homes industry. The regulatory body
is considering introducing a variety of regulations to improve the customer experience in the industry. Following a period of
consultation and investigation, the regulatory body is expected to announce arange of new regulations in the near future.

The directors of ZZZ are concerned that the new regulations may adversely affect their company

Which THREE of the following new regulations are likely to have the greatest negative impact on ZZTs performance?
* Imposition of aminimum staff to client ratio.

* Price controls, setting a maximum price that providers can charge

* Monopoly controls, forcing large operators to dispose of some care homes

* Imposition of a one-off & #8220;windfall&#8221; tax to fund training courses for carers across the industry

* Fines for companies that miss specified service level targets
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NEW QUESTION 195
Cl 1J has decided to move its production plant to overseas country X.

This would make the product cheaper to produce. The technology used to make the product is very advanced and some of the skilled
staff would have to move to country X.

The Production Director has identified that there are some political risks in moving to county X.

For each of the political risks of moving to country X shown below, select the correct method for reducing the risk.

(Thc government of ccuntry X could rcfusc to
grart visas to GkJ's staff who need to move

rn country X.
L ]

The government of country X could introduce
hich tares for outs de comparies which C
o tid mzk= it difficiit for GHI 12 E.r |e‘

Employ at least 5% Jozal
peodle in th= preduct & { plant

L

procuchion in cuuntry X,

Import partly competed
products from Gl lJ's home
couniry

lLc::sa.l staff could find out how tc make the
procuct and use that knowiedge 1o start a
procucticn plant of telr owr.

Taxe out a loan with 2 bank in
country X

The government of ccuntry X could refuse to
renew visas for staff brought from SHJ's
nome country

(Thc government of ccuntry X could rcfusc to
grart visas to GkJ's staff who need to move Employ at least aL% Jjozal
rn country X peoole in thz preducté. ( plant

4 =_= Employ at least 5C% Jpzal
The government of country X could introduce I ;
hich tares for outs de comparies which | peoole in the product ./ plant
wouild makea it ifficnt for GHItg g6 |6‘L S from GllJ's home
ot ocuclion in copntiy X, é | country

Import p2rly competed
products from Gl lJ's home
! couniry
Lozal staff could find out how tc make the
procuct and use that knowiedge fo start a Employ at least 5C% Jpzal [ e, e
procucticn plant o1 telr ovr. peosle in thz product & /plant I.rme S R WS B
country X
|

The government of ccuntry X could refuse to
renew visas for staff brought from SHJ's ErMploy at least 0% Jozal
nome country peoole in the product &/ plant

Achieve the CIMAPRA19-F03-1 Exam Best Results with Help from CIMA Certified Experts [ Q191-Q210] | Page3/10 |


https://blog.topexamcollection.com/?p=606
https://blog.topexamcollection.com/?p=606

This page was exported from - Top Exam Collection
Export date: Sat Apr 12 17:46:38 2025/ +0000 GMT

[Thc government of country X could refusc to
igrart visas to GrJ's staff who need to move Empiloy &t least 0% Iacal

to country X people in the production plant m
g s
I3

; e o Employ at least 5L% lozal

The government of country X could introducs | 7 =0 L6 ¢ tlrdines

high tares for outs de comparies which i ‘ w’!‘ : peoole in ths preducton plant

woulld make it difficut for GHI "8 4 fprolucts fropmGHJ s home

procuction in copnige o country

R Import pzrily comp elea

AL products from Gl1J's home

}‘\J ':9 country

Lozal staff could find out how to make the

procuct and use that knowledge 1o start a Empioy 2t least 20% el

) i r jion
procucticon piant of tnelr own PORERAETIES pechicion P Take out a loan with a bank in
country X

The government of ccuntry X could refusc to

rencw visas for staff brought from G4J's Empioy 2t least 20% Iacal

nome country peoaple in the production plam

NEW QUESTION 196
A isalisted company. Its shares trade on a stock market exhibiting semi-strong form efficiency.

Which of the following is most likely to increase the wesalth of A&#8217;s shareholders?

* Announcing that a project will be undertaken generating a positive net present value.

* Announcing that the final dividend will remain unchanged from the previous 3 years.

* Announcing that a non-current asset will be revalued in the statement of financial position.
*Announcing that inventory will be impaired.

NEW QUESTION 197

Company A is planning to acquire Company B. Both companies are listed and are of similar size based on market capitalisation No
approach has yet been made to Company B&#8217;s shareholders as the directors of Company A are undecided about the most
suitable method of financing the offer Two methods are under consideration a share exchange or a cash offer financed by debt.

Company A currently has a gearing ratio (debt to debt plus equity) of 30% based on market values. The average gearing ratio (debt
to debt plus equity) for the industry is 50% Although no formal offer has been made there have been market rumours of the
proposed bid. which is seen as favorable to Company A.

As a consequence. Company As share price has risen over the past few weeks while Company B& #3217;s share price has fallen.

Which THREE of the following statements are most likely to be correct?

* Based on current share price movements, a share exchange would mean Company A has to issue fewer shares to acquire
Company B than it would have done a few weeks ago

* Company B&#8217;s shareholders will be able to participate in the future growth of the combined businessif it isashare
exchange

* The method of finance chosen will not affect the post-acquisition earning per share of the combined business

* Company A&#8217;s weighted average cost of capital will fall if financing iswith debt

* Company A&#8217;s gearing will increase following a share exchange.
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NEW QUESTION 198

Company Y plansto diversify into an activity where Company X has an equity beta of 1.6, a debt beta of zero and gearing of 50%
(debt/debt plus equity).

Therisk-free rate of return is 5% and the market portfolio is expected to return 10%.
Therate of corporate income tax is 30%.

What would be the risk-adjusted cost of equity if Company Y has 60% equity and 40% debt?
* 11.6%

* 11.9%

* 9.1%

* 13%

NEW QUESTION 199

A company is considering either directly exporting its product to customersin aforeign country or setting up asubsidiary in the
foreign country to manufacture and supply customersin that country.

Details of each aternative method of supplying the foreign market are as follows:

Sell to Sell to
Foreign Foreig
Customers| Custonter{_
fra @#%%3 New
\}{\ PDonwestic Foreign
HPE Market | Subsidiary
Total 1 \6100.000| B$104,500
revenue
i A$45.000 | B$49.500
costs
Corporate 259, 30%
tax rate

There isan import tax on product entering the foreign country of 10% of sales value.
Thisimport duty is a tax-allowable deduction in the company& #8217;s domestic country.
The exchange rateis A$1.00 = B$1.10

Which aternative yields the highest total profit after taxation?

* Domestic: A$41,250

* Domestic: A$33,750
* Foreign subsidiary: A$35,000
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* Foreign subsidiary: A$38,500

NEW QUESTION 200

A listed company plans to raise $350 million to finance a major expansion programme.
The cash flow projections for the programme are subject to considerable variability.
Brief details of the programme have been public knowledge for afew weeks.

The directors are considering two financing options, either arightsissue at a 20% discount to current share price or along term
bond.

Thefollowing datais relevant:

The company& #8217;s share price has fallen by 5% over the past 3 months compared with afall in the market of
3% over the same period.

The directors favour the bond option.

However, the Chief Accountant has provided arguments for arightsissue.

Which TWO of the following argumentsin favour of aright issue are correct?

* Theissue of bonds might limit the availability of debt finance in the future.

* The recent fall in the share price makes arights issue more attractive to the company.

* Therightsissue will lead to less pressure on the operating cash flows of the programme.

* The WACC will decrease assuming Modigliani and Miller&#8217;s Theory of Capital Structure without taxes applies.
* The administrative costs of arightsissue will be lower.

NEW QUESTION 201

A company&#8217;s dividend policy isto pay out 50% of its earnings.

Its most recent earnings per share was $0.50, and it has just paid a dividend per share of $0.25.

Currently, dividends are forecast to grow at 2% each year in perpetuity and the cost of equity is 10.5%.

In order to grow its earnings and dividends, the company is considering undertaking a new investment funded entirely by debt
finance. If the investment is undertaken:

* |ts cost of equity will immediately increase to 12% due to the increased finance risk.

* |ts earnings and dividends will immediately commence growing at 4% each year in perpetuity.

Which of the following is the expected percentage change in the share price if the new investment is undertaken?
* Increase = 8.3%

* Increase = 2%

* |ncrease = 10.5%
* Decrease=7.7%
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NEW QUESTION 202

A company&#8217;s annua dividend has grown steadily at an annual rate of 3% for many years. It has a cost of equity of 11%. The
share price is presently $64.38.

The company is about to announceits latest dividend, which is expected to be $5.00 per share.

The Board of Directorsis considering an attractive investment opportunity that would have to be funded by reducing the dividend to
$4.50 per share. The board expects the project to enable future dividends to grow by 5% every year and the cost of equity to remain
unchanged.

Calculate the change in share price, assuming that the directors announce their intention to proceed with this investment opportunity.

Give your answer to 2 decimal places.

$?
14.37

NEW QUESTION 203

Company A, alisted company, plansto acquire Company T, which isalso listed.

Additional informationis:

* Company A has 100 million shares in issue, with market price currently at $8.00 per share.
* Company T has 90 million shares in issue,. with market price currently at $5.00 each share.
* Synergies valued at $60 million are expected to arise from the acquisition.

* The terms of the offer will be 2 sharesin A for 3 sharesin B.

Assuming the offer is accepted and the synergies are realised, what should the post-acquisition price of each of Company
A&#8217;s shares be?

Give your answer to two decimal places.

$?.

* 8.19,8.18

* 8.19,6.18

NEW QUESTION 204

Company A isalisted company that produces pottery goods which it sells throughout Europe. The pottery isthen delivered to a
network of self employed artists who are contracted to paint the pottery in their own homes. Finished goods are distributed by
network of sales agents.The directors of Company A are now considering acquiring one or more smaller companies by means of

vertical integration to improve profit margins.

Advise the Board of Company A which of the following acquisitions is most likely to achieve the stated aim of vertical integration?
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* A company in asimilar market to Company A.

* A pottery factory in the Middle East.

* A company that produces accessories.

* A listed international logistics firm.

NEW QUESTION 205

Company Y ZZ has made abid for the entire share capital of Company ZY'Y

Company Y ZZ is offering the shareholdersin Company ZY'Y the option of either a share exchange or a cash aternative
Which THREE of the following would be considered disadvantages of accepting the cash consideration for the shareholders of
Company ZYY?

* Interest rates on deposit accounts are currently at an historic low and are expected to remain low

* Taxation is payable on realised capital gains.

* Company YZZ |s not expected to change * s dividend policy post-acquisition

* Cash consideration is certain whereas Company Y ZZ& #8217;s future share price performance is uncertain

* Therewill be no opportunity to participate in the future economic success of Company YZZ

NEW QUESTION 206

A company&#8217;s current earnings before interest and taxation are $5 million.

These are expected to remain constant for the forseeable future.

The company has 10 million sharesin issue which currently trade at $3.60.

It also has a $10 million long term floating rate loan.

The current interest rate on thisloan is 5%.

The company pays tax at 20%.

The company expects interest rates to increase next year to 6% and it&#8217;s Price/Earnings (P/E) ratio to move to
9.5 times by the end of next year.

What percentage reduction in the share price will occur by the end of next year if the interest rate increase and the P/E movement
both occur?

* Reduction of 7%

* Reduction of 5%

* Reduction of 1%

* Reduction of 0%

NEW QUESTION 207

RR has agreed to sell goodsto XX for S20.000 XX will pay when the goods are delivered in 6 months time.

RR& #8217;s home currency isthe £- The current exchange rate is 4.3 £/S. The projected inflation rate for the Sis

Achieve the CIMAPRA19-F03-1 Exam Best Results with Help from CIMA Certified Experts [ Q191-Q210] | Page8/10 |


https://blog.topexamcollection.com/?p=606
https://blog.topexamcollection.com/?p=606

This page was exported from - Top Exam Collection
Export date: Sat Apr 12 17:46:38 2025/ +0000 GMT

2.8%, and for the E 4 6%.

When RR receives payment for its goods, what will the value be to the nearest pound?
* £87.506
* £85,243
* £86 760
* £84.520

NEW QUESTION 208

A new company was set up two years ago using the personal financial resources of the founders.

These funds were used to acquire suitable premises.

The company has entered into along-term lease on the premises which are not yet fully fitted out.

The founders are considering requesting loan finance from the company& #8217;s bank to fund the purchase of custom-made
advanced technology equipment.

No other companies are using this type of equipment.

The company expects to continue to be profitable for the forseeable future.

It re-invests some of its surplus cash in on-going essential research and devel opment.

Which THREE of the following features are likely to be considered negatives by the bank when assessing the company & #8217;s
credit-worthiness?

* The equipment is advanced technology custom-made equipment.

* The company will continue to remain profitable and to generate net cash.

* The company premises are on along-term lease but are not yet fully fitted out.

* The founders invested their personal financial resourcesin the company.

* Essential on-going research and development expenditure is required.

NEW QUESTION 209

Company A has just announced a takeover bid for Company B. The two companies are large companies in the same industry_ The
bid is considered to be hostile.

Company B&#8217;s Board of Directorsintendsto try to prevent the takeover as they do not consider it to be in the best interests of
shareholders

Which THREE of the following are considered to be |egitimate post-offer defences?

* Have all the assets independently professionally revalued to demonstrate that the offer underval ues the company

*Alter the memorandum and articles of association to state that a minimum of 75% of shareholders must agree to the bid before it
can proceed

* Make a counter bid for Company A provided such an acquisition could enhance Company B&#8217;s shareholder wealth

* Publish very optimistic financial forecasts for Company B even though the Board of Directors realises that these are highly
unlikely to be achievable

* Refer the bid to the competition authoritiesto try to have the bid prohibited on competition grounds
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NEW QUESTION 210

A listed company follows a policy of paying a constant dividend. The following information is available:

* |ssued share capital (nominal value $0.50) $60 million

* Current market capitalisation $480 million

The shareholders are requesting an increased dividend this year as earnings have been growing. However, the directors wish to
retain as much cash as possible to fund new investments. They therefore plan to announce a 1-for-10 scrip dividend to replace the
usual cash dividend.

Assuming no other influence on share price, what is the expected share price following the scrip dividend?

Give your answer to 2 decimal places.

$?
3.64, 3.63, 3.65

Detailed New CIMAPRA19-F03-1 Exam Questionsfor Concept Clearance:
https://www.topexamcoll ection.com/CIM A PRA 19-F03-1-vce-coll ection.html]
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